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FinatiNgNafuLNanIanRuUNIN 10000 dngAaniiy 5% Fatl haraiwaw 10 T

Input capital, rate, and year: 10000 5 10

Year 1 = 10500
Year 2 = 11025
Year 3 = 11576.2
Year 4 = 12155.1
Year 5 = 12762.8
Year 6 = 13401
Year 7 = 14071
Year 8 = 14774.6
Year 9 = 15513.3
Year 10 = 16288.9

FnatinaNafuNanIanRuUNIN 100000 dRgAaniis 10% FAetl LaYa1wIL 7 T

Input capital, rate, and year: 100000 10 7

Year 1 = 110000
Year 2 = 121000
Year 3 = 133100
Year 4 = 146410
Year 5 = 161051
Year 6 = 177156
Year 7 = 194872

Read cap, rate, year
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cap = cap x (1 + (rate/100))
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Print year, cap
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